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Note : Question No. 1 is compulsory. Attempt all 

questions. Choices are given within the 

questions. 

1. (a) State whether the following statements 

 are ‘True’ or ‘False’ : 1×5=5 

(i) The energy pyramid is always 

inverted. 

(ii) Heterotrophic succession begins 

with more bacteria, actinomycetes 

and fungi. 
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(iii) Ecotone is a transitional area of 

vegetation between two different 

plant communities. 

(iv) Climax community is long-lasting 

and unstable. 

(v) Ephemerals complete their life 

cycle during moisture condition. 

 (b) Fill in the blanks : 1×5=5 

(i) A ……… is a large-scale ecosystem 

characterised by its climate, flora 

and fauna. 

(ii) A …….is a natural or artificial 

reservoir that absorbs and stores 

atmospheric carbon. 

(iii) The …… is the rate or function of 

an organism within its ecosystem. 

(iv) The ……… is the layer of the 

Earth's atmosphere above the 

troposphere. 

(v) Organisms which live at the air-

water  interface are called as …… . 
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2. Attempt any four of the following questions : 

 (a) Differentiate between the following 

 pairs of terms : 1×5=5 

  (i) Benthic zone and Pelagic zone 

  (ii) Nitrification and Denitrifcation 

  (iii) Point-source and non-point-source  

   pollution 

  (iv) Stratified and Non-stratified lake 

(v)  Crustose and Foliose lichen stage 

 (b) “Primary succession is slower than 

secondary succession.” Give your 

comments. 5 

 (c) Briefly discuss the causes of water 

 pollution. 5 

 (d) “Energy flow in the ecosystem is 

 unidirectional.” Comments. 5 

 (e) Write a note on the cause and effect of 

air pollution. 5 
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3. Attempt any two of the following questions : 

 (a) (i) Discuss the different defense 

mechanisms of plants. 5 

  (ii) Describe the role of keystone 

species with appropriate examples. 

   5 

 (b) (i) Draw and explain the S- shaped 

and J-shaped growth curve 

regarding population ecology. 5 

  (ii) Write the salient features of the 

forest conservation. 5 

 (c) Give a detailed note on ‘Red Data Book’  

  and ‘Project Tiger’. 10 

 

 

 

 

 

  



 [ 5 ]  LSE-02 

B–1476/LSE–02 P. T. O. 

 LSE–02 

foKku Lukrd  

(ch- ,l&lh-) 

l=kar ijh{kk  

twu] 2025 

tho foKku 

,y-,l-bZ-&02 % ikfjfLFkfrdh 

le; % 2 ?k.Vs vf/kdre vad % 50  

uksV % iz'u Øa- 1 vfuok;Z gSA lHkh iz'uksa ds mÙkj nhft,A iz'uksa 

esa gh fodYi fn, x, gSaA  

1- (a) crkb, fd fuEufyf[kr dFku lR; g® ;k vlR; % 

1×5=5 

  (i) ÅtkZ dk fijkfeM lnSo mYVk gksrk gSA 

  (ii) ijiksf"kr vuqØe.k vf/kd thok.kqvksa] ,DVhuks& 

ekbflVht+ vkSj dodksa ls vkjEHk gksrk gSA 

  (iii) bZdksVksu nks fHkUu ikni leqnk;ksa ds chp dk 

ikjØe.k {ks= gSA 
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  (iv) pjekoLFkk leqnk; nh?kZdkfyd vkSj vLFkk;h 

gksrk gSA 

  (v) vYidkfyd ikS/ks viuk tho pØ vknZzrk dh 

fLFkfr ds dky esa iwjk dj ysrs g®A 

 (b) fjDr LFkkuksa dh Hkfj, % 1×5=5 

  (i) ………….,d O;kid ikfjra= (bZdksflLVe) 

gksrk gS ftldh igpku mldh tyok;q] 

ouLifrtkr~ (¶yksjk) vkSj izkf.ktkr~ (QkWuk) 

ls gksrh gSA 

  (ii) ………,d izkÏfrd HkaMkj (fjtokZ;j) gS tks 

ok;qeaMyh; dkcZu dks vo'kksf"kr vkSj HkaMkfjr 

djrk gSA 

  (iii) ………fdlh tho dh vius ikfjra= esa nj ;k 

izdk;Z gSA 

  (iv) ………i`Foh ds ok;qeaMy dh VªksiksfLQ;j ds 

Åij okyh ijr gSA 

  (v) tks tho ok;q&ty vUrjQyd (bUVjQst+) ij 

thrs g®] os ………dgykrs g®A 



 [ 7 ]  LSE-02 

B–1476/LSE–02 P. T. O. 

2. fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mÙkj nhft, % 

 (a) inksa ds fuEufyf[kr tksM+ksa ds chp vUrj crkb, % 

1×5=5 

  (i) furyLFk {ks= vkSj csykiorhZ {ks= 

  (ii) ukbVªhdj.k vkSj foukbVªhdj.k 

  (iii) fuf'pr&lzksr rFkk vfuf'pr&lzksr iznw"k.k 

  (iv) Lrfjr vkSj vLrfjr >hy 

  (v) iiZVh ykbdsu voLFkk vkSj if.kZy ykbdsu 

voLFkk 

 (b) ßizkFkfed vuqØe.k f}rh;d vuqØe.k dh vis{kk 

ean gksrk gSAÞ fVIi.kh dhft,A 5 

 (c) ty iznw"k.k ds dk;ks± ij laf{kIr ppkZ dhft,A 5 

 (d) ßikfjra= esa ÅtkZ izokg ,dfn'kkRed gksrk gSAÞ 

fVIi.kh dhft,A 5 

 (e) ok;q iznw"k.k ds dkj.k vkSj izHkkoksa ij fVIi.kh 

fyf[k,A 5 
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3. fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj nhft, %  

 (a) (i) ikS/kksa dh fofHkUu lqj{kk fØ;kfof/k;ksa ij ppkZ 

dhft,A 5 

  (ii) dhLVksu tkfr;ksa dh Hkwfedk dk mi;qDr 

mnkgj.kksa ds lkFk o.kZu dhft,A 5 

 (b) (i) lef"V ds lanHkZ esa S&vkdkj vkSj J-vkdkj 

ds o`f¼ oØ cukb, vkSj mudh O;k[;k 

dhft,A 5 

  (ii) ou laj{k.k dh fof'k"V fo'ks"krkvksa dks 

fyf[k,A 5 

 (c) ^jsM MkVk cqd* vkSj ^ck?k ifj;kstuk* ij foLr`r 

fVIi.kh fyf[k,A 10 

× × × × × 

 

 

 

 

 

 

 

 


